Mi-Lesson 19

V .(28 +4) = (20 »:—.4) +(_ 8

(20 —4-) =

+4)

This shows how we can add the quotients of
two smaller facts to find the guotient of the
larger one. The array can help me fill in the

@8 =_2
JANVAWAWAN

This array shows a

total of 28 triangles. |see that the dotted line
breaks apart the array after the fifth row. There are

5 fours ahove
the dotted line and 2 fours below the dotted line.

Match equal expressions.

| can match the larger division
problem found on the
whiteboard to the two smaller
division problems added
together on the clipboard

vy

Apply the distributive property to decompose units.
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2. Chloe draws the array below to find the answer to 48 + 4. Explain Chloe’s strategy.

For this problem, | can
count the number of rows
in this array to check my
answer.

e (40 - 4) = 10
48+4={40+4)+(8+4)

=30+ 2

= 12

0000 4 (g:4y=2

Chioe breaks aport 48 os 10 fours and 2 fours. 10 fours equals 40, ond 2 fours equals 8. 3¢, she does
48 + 4 gnd 8 + 4 gnd adds the answers to get 48 + 4, which equais 12,
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ﬁunEKA Lesson 19: Apply the distributive property to decompose units. 33

MATH

©2015 Great Minds. eurska-mathi.org
G3-M1-HWH-1.1.0-07.2015

S58555330333583338333



